TO: FRANKLIN COUNTY TREASURER

FROM: FRANKLIN COUNTY CLERK

RE: MARCH, 2022

The following fees were received from the Franklin County Clerk during the month of March 1, 2022. As per the Revised Illinois State Statutes, the fees were submitted to the Franklin County Treasurer.

Recording & Filing Fees

33,987.00

Total number of documents on the Fee Collection Report for the GIS Fee times each of the following:

Less: Document Storage	\$ \$ 2.86 per instrument x 518 docs	1,481.48
Less: Automation Fund	\$ 6.54 per instrument x 518 docs	3,387.72
Less: GIS	\$21.69 per instrument x 518 docs	11,235.42

Sub-Total for Recording & Filing Fees	17,882.38
RHSP - IDOR \$9.00 per instrument fee	4,131.00
Real Estate Stamps	10,199.25
Assumed Name	135.00
Cert Birth, Marriage, Death & Rec.	2,502.00
Copy Services	1,703.50
Election Business	6.00
Fax Fee	12.00
Marriage Licenses / Civil Union	700.00
Miscellaneous	1,746.00
Notary	225.00
Tax Deed Fee	15.00
Take Notice	8,029.56
Real Estate Tax Redemption Fee @ \$40 ea. (0)	0.00
Mobile Home Tax Redemption Fee @ \$40 ea. (0)	0.00
Real Estate Tax Redemption Fee @ \$73 ea. (108)	7,884.00
Mobile Home Tax Redemption Fee @ \$73 ea. (3)	219.00

Adjustments:

Cash Drawer

Adjustments sub-total:	\$0.00
Adiustinents sub-totat:	DU.UU

Vital Records	Cert Death Record: $4 \times 4 = 16$ fee acct. check#1534	(16.00)
Marriage Families L	(70.00)	
IDOR - Rental House	ing Support Program Fund: $459 \times 9 = 4{,}131 \text{ e.f.}$ transfer	(4,131.00)
IDOR - MyDec state	's part of revenue stamps: 6,799.50 e.f. transfer	(6,799.50)

01-341: County Clerk Fees

\$44,372.19

(1.00)

TO:

FRANKLIN COUNTY TREASURER

FROM:

FRANKLIN COUNTY CLERK

RE:

MARCH, 2022

19-371.000 - Document Storage \$ 2.86 per instrument 19-372.000 - Automation Fund \$ 6.54 per instrument 59-352.000 - GIS \$21.69 per instrument	1,481.48 3,387.72 11,235.42
59-352.002 - Approval of Legal Description	175.00 3,150.00
01-322.000 - Liquor License 01-341.009 - Researchers - Laredo & Tapestry Copies	1,339.20
01-341.010 - Researchers - Laredo Subscription & Overage Fee	869.52
01-362.000 - Franchise Fee for Zito West Holding	11.64

Sub-Total:

\$66,022.17

01-361: Interest Accrued for March, 2022

Fee Account

\$3.53

Tax Redemption

counterfeit \$100.00 bill from May, 2021

\$0.00

\$40.20 - previous balance less \$22.08 - interest for March = \$18.12 balance remaining

TOTAL RECEIVED BY THE COUNTY CLERK

\$66,025.70

Fee Account - Check #1536

\$57,922.70

Tax Account - Check #4742

\$8,103.00

TOTAL FEES SUBMITTED APRIL, 2022 TO THE FRANKLIN COUNTY TREASURER -

\$66,025.70

TO: FRANKLIN COUNTY TREASURER

FROM: FRANKLIN COUNTY CLERK

RE: APRIL, 2022

The following fees were received from the Franklin County Clerk during the month of April 1, 2022. As per the Revised Illinois State Statutes, the fees were submitted to the Franklin County Treasurer.

Recording & Filing Fees Total number of documents on the Fee Collection Report for the GIS Fee times each of the Less: Document Storage \$ 2.86 per instrument x 462 docs 1,321.32 Less: Automation Fund \$ 6.54 per instrument x 462 docs 3,021.48 Less: GIS \$21.69 per instrument x 462 docs 10,020.78	29,618.00 e following:				
Sub-Total for Recording & Filing Fees	15,254.42				
RHSP - IDOR \$9.00 per instrument fee	3,726.00				
Real Estate Stamps	12,844.50				
Assumed Name	54.00				
Cert Birth, Marriage, Death & Rec.	1,635.00				
Copy Services	2,234.00				
Fax Fee	8.00				
Marriage Licenses / Civil Union	650.00				
Miscellaneous	536.00				
Notary	450.00				
Tax Deed Fee	5.00				
Real Estate Tax Redemption Fee @ \$40 ea. (0)	0.00				
Mobile Home Tax Redemption Fee @ \$40 ea. (0)	0.00				
Real Estate Tax Redemption Fee @ \$73 ea. (78)	5,694.00				
Mobile Home Tax Redemption Fee @ \$73 ea. (4)					
Cash Drawer	6.00				
Vital Records Cert Death Record: $19 \times 4 = 76$ fee acct. check#1537	(76.00)				
Marriage Families Domestic Violence Fund: $13 \times 5 = 65$ fee acct. check#1538	(65.00)				
IDOR - Rental Housing Support Program Fund: $414 \times 9 = 3726$ e.f. transfer	(3,726.00)				
IDOR - MyDec state's part of revenue stamps: 8563 e.f. transfer					
01-341: County Clerk Fees	\$30,958.92				

TO:

FRANKLIN COUNTY TREASURER

FROM:

FRANKLIN COUNTY CLERK

RE:

APRIL, 2022

19-371.000 - Document 19-372.000 - Automatio	1,321.32 3,021.48		
59-352.000 - Rutomato 59-352.000 - GIS	\$21.69 per instrument	10,020.78	
59-352.002 - Approval o	of Legal Description	50.00	
01-322.000 - Liquor Lic	-	1,025.00	
01-341.009 - Researcher	1,329.50		
01-341.010 - Researcher	868.40		

Sub-Total:

\$48,595.40

01-361: Interest Accrued for April, 2022

Fee Account

\$6.75

Tax Redemption

counterfeit \$100.00 bill from May, 2021

\$16.01

\$18.12 - previous balance less \$18.12 - interest for April = \$0.00 balance remaining

TOTAL RECEIVED BY THE COUNTY CLERK

\$48,618.16

Fee Account - Check #1539 \$42,616.15 Tax Account - Check #4774 \$6,002.01

TOTAL FEES SUBMITTED MAY, 2022

TO THE FRANKLIN COUNTY TREASURER -

\$48,618.16



Franklin County Coroner

County of Franklin, Illinois

411 East Main Street Benton, Illinois 62812 618-439-6850 Ext. 2501 franklincountycoroner@yahoo.com

April 2022

April case total = 29

Annual total through April 30, 2021 = 132

7 females @ an average age of 84.71 years of age

22 males @ an average age of 79.45 years of age

18 out of 29 cases were on scene investigations

6 Transported by ambulance, fire, or coroner

2 Autopsies

15 Cremations @ \$50 per permit = \$750

5 deaths between 10:00 p.m. and 7:00 a.m.

13 weekend and holiday deaths

4 Cancer Deaths/12 Cardiac related deaths/ 0 Covid-19

Deaths per day of the week Monday 3, Tuesday 2, Wednesday 3, Thursday 2, Friday 6, Saturday 8, Sunday 5.

Deaths by residence town: 5 West Frankfort, 8 Benton, 2 Mulkeytown, 2 Sesser, 1 Royalton, 2 Thompsonville, 2 Christopher, 1 Ewing, 1 Buckner, 2 Zeigler, 1 Valier, 1 Logan, 1 Mt. Vernon.

Marty P. Leffler Coroner

John Graskewicz Chief Deputy Coroner

John Owers

Deputy Coroner

Steve Gilbert Deputy Coroner

Gary Little
Deputy Coroner

Steve Leek Deputy Coroner

Bernie Staten Secretary APRIL 2022/

Coroner Cases

						COTOTICE Ca.	563	r				
oril 2022	Day	Time	Age	Place	Cause	Transport	Respond	Cremation	Autopsy	Tox	V ****	D - 1
1-Apr	Friday	5:30 a.m.	81F	Residence	Dementia	No .	Yes	Yes	No	No	X-ray	Residence
1-Apr	Friday	11:50 a.m.	89F	N.H.	COPD	No	No	No	No		No	Royalton
2-Apr	Saturday	9:10 a.m.	87M	Res.Hosp	Bone CA	No	No	Yes	No	No	No	Ewing
2-Apr	Saturday	8:06 p.m.	93M	<24 Fr. Hosp	Hypoxemia	No	No	No	No	No No	No	T'Ville
3-Apr	Sunday	9:15 a.m.	94M	Res.Hosp	Heart Dis	No	No	No		No	No	Benton
3-Apr	Sunday	7:41 a.m.	68M	Residence	Cardiac	Yes-amb	Yes	Yes	No No	No	No	Buckner
6-Apr	Wednesday	4:00 p.m.	88M	Res.Hosp	Hyp Hrt Fail		Yes		No No	No	No	Benton
8-Apr	Friday	3:00 p.m.	95M	N.H.	HeartFail.	No	No	No	No	No	No	Christopher
10-Apr	Sunday	9:22 a.m.	72M	Res.Hosp	SYST HRT	No		No	No	No	No	T'Ville
10-Apr	Sunday	7:00 p.m.	69M	Residence	Cardiac	No	Yes	Yes	No	No	No	Mulkeytown
11-Apr	Monday	9:45 p.m.	96M	N.H.	COPD	No	Yes	No	No	No	No	Zeigler
12-Apr	Tuesday	3:25 a.m.	98M	N.H.	Dementia	No	No	No	No	No	No	Mt.Vernon
13-Apr	Wednesday	8:44p.m.	85F	Res.Hosp	COPD		Yes	No	No	No	No	Sesser
16-Apr	Saturday	5:05 p.m.	73M	Res.Hosp	COPD	No ·	No	Yes	No	No	No	WF
16-Apr	Saturday	8:47 p.m.	81M	Res.Hosp	PancreasCA	No No	No	Yes	No	No	No	Benton
17-Apr 9		2:30 P.M.	67M	ER	Cardiac	No N-	Yes	Yes	No	No	No	Mulkeytown
18-Apr	Monday	8:10 a.m.	80F	Residence	CHF	No	Yes	Yes	No	No	No	WF
	Thursday	8:25 p.m.	89M			YES-coroner	Yes	Yes	No	No	No	Zeigler
22-Apr F	-	12:35 p.m.	84M	_	CHF	No	No	No	No	No	No	WF
23-Apr S	-	3:05 p.m.	90F		PENDING	Yes-amb	Yes	Yes	yes	yes	yes	Benton
23-Apr S		11:33 p.m.	31M		SubDurBld	No	No	Yes	No	No	No	WF
25-Apr N	-	4:25 a.m.	91F		PENDING	YES-coroner	Yes	No	yes	yes	No	Sesser
26-Apr T	-	8:00 p.m.	76M		AFT/CHF	No	yes	yes	No	No	No	Benton
		2:35 a.m.	70W 77F		COPD	No	No	Yes	No	No	No	Benton
28-Apr T		9:40 a.m.	95M		Colon CA	No	Yes	No	No	No	No	Benton
29-Apr F	-	4:20 p.m.	93W 67M		Cardiac	No	Yes	No	No	No	No	Benton
29-Apr F		8:24 p.m.	93M		Cardiac	YES-coroner	Yes	No	No	No	No	WF
30-Apr S		10:35 a.m.			COPD	NO	Yes	No	No	No	No	Valier
30-Apr Sa	•	12:50 p.m.	75M		Lung CA	No	Yes	Yes	No	No	No	Christopher
	uturuuy	12.30 h.III.	57M	Residence	PENDING	Yes-amb	Yes	Yes	No	yes	No	Logan